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Ql:

A) +x
What 1s the direction of = B) —x
5 R 2 +y
<0,0,3>x<0,4, 0>? D) —z
E) zero magnitude
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Q2:

What 1s the direction of ) %
—X

<0,4,0>x<0,0, 3>? C) +y
D) —z

% Y 6__ B Q( E) zero magnitude




Q3:

L A) +x
What 1s the direction of B) x
C) +y
<0,0,6>x<0,0,-3>? D) —z
%% (-2)
B .
AELS KKRE O
—-’U ) N /\._‘_ O
£<\% L\»S?ﬁ‘j
[ f O A
sw(\"‘” RN



crossproduct.] Py

Ponderable \,\)\,\g"}” 1R Q)\A(.T\J“ /

Momeaham bt

ot A7
L=7x

vl

“—] er'—‘]S’\Méur_\_P Yp L J""\[

() =4 p=lolgmy

H 11 Zj = <‘-fm,6"\; 0j>§40,—101';1“‘(5,o>

— 40/ 0, _{?Ol'j ML/SB
bﬁ eHAL h—%




Q4: A planet orbits a star, in a circular orbit in the xy plane. Its
momentum is shown by the red arrow.

What is the direction of
the angular momentum of
the planet?

A) same direction as p
B) opposite to P
Sy

2
2 C) into the page
7< 7/ R out of the page

zero magnitude
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Q5: A planet orbits a star, in a circular orbit in the xy plane. Its
momentum 1s shown by the red arrow. What 1s its angular
momentum?

f\ A) +x y

B) —y
C) +z
‘®
ero magnitude
(z-axis points
out of page)

v 4




Q6: A comet orbits the Sun, in the xy plane. Its momentum is
shown by the red arrow.

What 1s the direction of the comet's angular momentum about
the Sun?

A) same direction as P

B) opposite to p
C) into the page
D) out of the page

b E) zero magnitude




Q7: A comet orbits the Sun, in the xy plane. Its momentum is
shown by the red arrow. What is the direction of the comet's
angular momentum about the Sun?

A) —x 4

B) +y

C) -y ® x

D) +z

E) zero (z-axis points
magnitude out of page)




Q8: A comet orbits the Sun in the xz plane. Its momentum is
shown by the red arrow. What is the direction of the comet's
angular momentum about the Sun?

E) zero magnitude




Q9: If an object is traveling at a constant speed in a vertical
circle, how does the object's angular momentum change as the
object goes from the top of the circle to the bottom of the circle?

A) ‘f,‘ increases.
B) ‘1:| decreases.

C) ‘E| stays the same, but the direction of |L| changes.
) The direction and magnitude of |E‘ remain the satre:
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Q1: A yo-yo is in the xy plane. You pull up on the string with a
force of magnitude 0.6 N. What is the direction of the torque you

exert on the yo-yo?
r=10.005m, R=0.035m

A) +x
B) —x
C) +y
D) -y
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(z-axis points
out of page)




Q2: A yo-yo is in the xy plane. You pull up on the string with a
force of magnitude 0.6 N. What is the magnitude of the torque
you exert on the yo-yo?

r=10.005m, R=0.035m A) 0.003 N-m

B) 0.021 N-m

C) 0.035N-m

D) 0.6 N'm

E) cannot be determined without
knowing the length of the string
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